
Distribuzioni

Binomiale

P (x) =
N !

x!(N − x)!
px(1− p)N−x

〈x〉 = Np

〈x2〉 − 〈x〉2 = Np(1− p)

Normale

P (x) =
1√

2πσ2
e−

(x−µ)2

2σ2

〈x〉 = µ

〈x2〉 − 〈x〉2 = σ2

Poissoniana

P (x) =
λx

k!
e−λ

λ =
p

n
〈x〉 = λ

〈x2〉 − 〈x〉2 = λ

Integrali∫ +∞

0

dxe−ax
2

x =
1

2a

∫ +∞

−∞
dxe−ax

2+bx =

√
π

a
e
b2

4a erf(s) =
2√
π

∫ s

0

dx e−x
2

Γ(s) =

∫ ∞
0

dxxs−1e−x ζ(s) =
1

Γ(s)

∫ +∞

0

dx
xs−1

ex − 1
=

1

Γ(s)(1− 21−s)

∫ +∞

0

dx
xs−1

ex + 1

Termodinamica

dE = TdS − PdV + µdN A = E − TS H = E + PV G = A+ PV = µN

T =

(
∂E

∂S

)
N,V

P = −
(
∂A

∂V

)
N,T

µ =

(
∂A

∂N

)
V,T

S = −
(
∂A

∂T

)
N,V

cV =
1

N

(
∂E

∂T

)
N,V

cP =
1

N

(
∂H

∂T

)
N,P

Gas Perfetto Classico

Z =
ZN1
N !

Z1 =

∫
d~qd~p

hd
e−βH(~q,~p) 〈E〉 = −N ∂ lnZ1

∂β
A = −N

β
ln

(
Z1e

N

)
G(ε) =

∫
d~qd~p

hd
δ(ε−H(~q, ~p)) P (ε) =

1

Z1
G(ε)e−βε

Gas perfetto quantistico

〈N〉 =

∫ ∞
−∞

dε G(ε)n(ε) 〈E〉 =

∫ ∞
−∞

dε G(ε)n(ε) ε PV β = ±
∫ +∞

−∞
dε G(ε) ln(1± n(ε))

G(ε) = gs

∫
d~qd~p

hd
δ(ε−H(~q, ~p)) n(ε) = (eβ(ε−µ) ± 1)−1

{
+→ fermioni

− → bosoni
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